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G) I a group of 40 smdents, 22 study Economics, 25 study Law, and 3 study neither of these

subjects. Determine the probability that a randomly chosen student sfudies: A group of businesses were asked whether [y peror Stayed

they had increased or decreased their employess Decreased the same Increased

a both Economics and Law/% o b at least one of these subjects ?7/ number of employees in the last year. Y =5 168 =

¢ FEconomics given that he or she studies Law: 7O 70 a Find the probability that a business 59 19 41 3

iy with 10-19 cmployees grew in the = =

Lo 2S previous year 019 ) 2 7

b Find the probability that a business mi:jgg '(f' : Ll

that increased in sizc had 10-99 - g "

e e 500+ 14 | o 1 \19
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selected business_decreased in size
over the previous year.
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H) Use the following letters to fill in 1) For the data set given, find using technology:
Venn Diagram: N, R, Z, Q a the minimum value Q b the maximum value = g’ 8§ 14 11
09 16
ﬁ ¢ the median ) 5 d the lower quamlc(QJ =13 . 12 28 13
\ e the upper quartlef O, = 2/ f the range 2 1 4 6 18
g the interquartile range. Max-MiaZ 2D 22 14 13 20 25 10

Q,-0,- 9

N= Nadsea !
P) | o

D= Redd, g) STAT = E02T (enbred ok )
= IV\hyfy STA»T)/(/LL(% [Var S TAT

6 [NORMAL FLOAT AUTOD REAL RADIAN HP n NORMAL FLOAT AUTO REAL RADIAN MP n

) ~'Fkkkjgh&h 16 41—Var‘ Stats 1-Var Stats|

;—_452 18x=5. 916662619
x=4 ox=5.817215829
Ix2=9084 n=30
Sx=5.916662619 minX=6
ox=5.817215829 Q1=12

n=3@ =

minX=6 2?3515

=Q1=12 .maxX=28
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Find, using your calculator, the mean and standard deviation of these sets of data:
a 117, 129, 105, 124, 123, 128, 131, 124, 123, 125, 108

o e S )

%=121, 5454545 —=

$x=1337 e N
$x2=163199

Sx=8.323023926

ox=7.935691943

n=11

minX=105 > St dey

101=117

K) Use line M as the given equation 9x - 3y =6 and the point P as coordinates (2, 4)

aly-3(=% “Sy = —ax 6
e o=
Is P on M? Find the gradient of M: E y = BN
T B soloe Kooy ,
What is the gradient of a line that is, parallel to M_ =  perpendiculartoM, _ 3.
Shpr

Find equation of line that is paEHeHo M and passes through point P.

pacallel /- 1 e
V=3x-¢
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J) Givengraphof y=x*-1/x +4

Find Turning point{ ~_7 ?i X/é) Asymptotes:_ X —©

Zero's: et \(V/ED y-int_Non<

anﬁL FLOAT AUTO REAL RADIAN MP 4 ¥ U

AL FLOAT AUTO REAL RAOLAN e ﬂ [T P I T T T n
anc
e Viz x: tuxw«
AN

2ero
R=.24626617 v=0 ini

Minimum

X=".7937023 Y¥=5.8898816

L) Identify the following from the given parabola y = -2x*-4x + 3

Direction of opening: 2 OWN Axis of Symmetry: - / Vertex:(’ J/ S\>

—-L
A= Y= 2T
X z L N =2y
QGl) { 3
_ \/ -
=4
—¢
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M) Given triangle MNO
N) Solve for x 20 (5)*= 100

M Find MN: 222, 2 Find Area of triangle MNO:_/ 7, & SRS
X
= 5
A 5 - S
(o] 14 NS% ZZlf‘a:ﬂ\nggjf\Q ﬂr\)
L Ar _ 2 ‘ &i - /f‘f
0.c. RS S TN 25 oy

ISRt D\O&/&/\ ws |7 @
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0) Find the measure of <A
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